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1. TACHHOPT ®OHJIA OHEHOYHBIX CPEJACTB

B pesynbrare ocBoenus yueOHo#M muctumianHbl OI'C2.03 MHoCTpaHHBIN S3BIK B
poecCHOHANBHON JEATEIPHOCTH OOYYAIOIIMIACS JOJKEH 00J1anaTh CIAeAYIOIUMH
YMEHUSIMH, 3HAHUSAMH, OOIMMHU KoMIleTeHIusAMH, rpeaycMmorpeHHsiMu @I'OC CIIO nmo

CIICOUaJIbHOCTH

27.02.03 ABTomMaTMKa "

(>KeJIE3HOOPOKHOM TPAHCIIOPTE).

Oco0oe 3HaueHne AUCIUIUIMHA UMEeT NMPpU (OPMUPOBAHUU U PA3BUTHH:
OK 01. Bsibupars cnocoObl pemieHus 3anad npodeccruoHaIbHONW IesSTEIBHOCTH
MIPUMEHUTEIHHO K PA3IMYHBIM KOHTEKCTAM.
OK 02. Ncrnonb30BaTh COBPEMEHHBIC CPEACTBA MOMCKA, aHAIN3a U HHTEPIPETAIIH

uHpopmMaruu

U  uHpOpMaAIMOHHBIC

npo(hecCUOHATBHOM NesATENbHOCTH.
OK 04. D¢ dexTuBHO B3aUMOJICCTBOBATH U pabOTaTh B KOJIJIEKTUBE U KOMaH/IE.
OK 06. IIposBiATh rpaxxAaHCKO-IIATPHUOTUYECKYIO ITO3HUIMIO, JEMOHCTPUPOBATH
OCO3HAHHOE TOBEJACHUE HAa OCHOBE TPAJMIIMOHHBIX OOIEYETIOBEUYECKUX LIEHHOCTEH, B
TOM YHCJIE€ C YYE€TOM TapMOHM3alUd MEXKHAUMOHAIBHBIX M MEXPEITUTHO3HBIX
OTHOUIEHUH, MPUMEHSTh CTAHIAPThl AHTUKOPPYNIIMOHHOTO OBEACHUS.
OK 09. Tlons3oBarbest pohecCHOHATBHON TOKYMEHTAlMEd Ha rocyJapCTBEHHOM

N MHOCTPAHHOM A3bIKaXx.
B paMKax nporpaMmMbl y‘le6H0ﬁ JUCHUITIIMHBI 06y‘laI-OH_II/IMI/IC$[ OCBAUBANOTCS YMCHUSA U 3HAHUA:

TCXHOJIOTHH

TEIEMEXaHWKa Ha  TPAHCIOPTE

JISA BBIITOJIHCHU A 3aJgad

(I)CI? YMmenust 3Hanus

OKO0l., | - moHumMath OOIMMHA  CMBICT  YETKO | TPaBUJ IOCTPOCHHS TMPOCTHIX |
OK 02., | npousHeceHHbIX BBICKA3bIBAHUI Ha | CIIOKHBIX peUI0KEHU I Ha
OK 04., | y3pecrupie Tembl (MpodecCHOHANbHBIE H | MPODECCHOHATBHBIEC TEMBI;

OK 06., ObITOBBIE), MOHUMATh TEKCThl Ha 0a30BbIE | OCHOBHBIX  OOIIEYNOTPEOUTETHHBIX
OK 0. podeCCHOHAIbHBIC TEMBI; IJ1arojioB (6bpITOBAs u
- y4YacTBOBaTh B JUAJIOTax Ha 3HAKOMbIE | MpodeccroHalIbHas JIEKCUKA);

oO1ire u mpodeccuoHalbHBIC TEMBI; JIEKCUYECKOTO MUHHMYMa,
— CTPOUTH NMPOCTHIE BHICKA3BIBAHUS O ce0e | OTHOCAILIETOCS K OIMCAHHUIO
u 0 CBOEM npo¢eCCHOHANIBHOM | MPEIMETOB, CPEICTB M IPOIECCOB
NeSITENbHOCTH; npodeccuoHaIbHOM NeATeIbHOCTH;
- KpaTrko OOOCHOBBIBaTb M OOBSACHUTH | OCOOEHHOCTEH MPOM3HOIIECHNUS;
CBOU JACWCTBHUSA (TEKyIIHE U TUIAHUPYEMBIE); | TPaBUII YTEHUS TEKCTOB
- MHUCaTh TPOCTHIE CBS3HBIE COOOMICHUS | MPO(eCcCHOHATBHON HAIPAaBICHHOCTH.
Ha MpoQeCCUOHAIIbHBIE TEMBI
dopMoOil  MPOMEKYTOUHOM  arTecTaliud 10  y4eOHOW  JAUCIUIUIMHE  SIBIISCTCA

nudGepeHInpPOBaHHBIN 3a4eT.




2. PE3YJIBTATHI OCBOEHUSA YUYEBHOM JJUCHUIIJIMHBI, TOJJIEKAIIUE
ITPOBEPKE
B pesynbrare KOHTpOJIA M OLEHKH 1O JUCLHUILIMHE OCYIIECTBISIETCS KOMILUIEKCHAs
IIPOBEPKA CIEAYIOIIMX 3HAHUM U YMEHUM IO MOKA3aTEeIsAM:

Pesyabrarsl 00yuyeHus dopmMa KOHTPOJIS
U OLlCHNBAHUA

V1-nonumarb OOIMIA CMBICI YETKO MPOU3HECEHHBIX - YCTHBIHN OMpoCc;
BBICKA3bIBAHUN HA M3BECTHBIE TeMbl (MPO(EeCCUOHANIBHBIE U - TECTHI,

OBITOBBIE), MOHUMATh TEKCTBI Ha 0a30BbIE - MUCHbMEHHBIN OMPOC;
npodeccuoHaIbHbIE TEMBI, - IPAKTUYECKOE 3aHSTHUE;
VY2-yyacTBOBaTh B JMalioraX Ha 3HAKOMBIE OOIIME U - KOHTPOJIbHAs paboTa;
npodeccuoHaIbHbIE TEMBI; - muddepeHupOBaHHbII

VY3-cTpouth MpOCThIE BBICKA3bIBaHUS O cebe M O CBOEH 3adyer.
npodeccruoHaIbHOM NeATeIbHOCTH;

VY4- xpaTko 00OCHOBBIBaTh U OOBSACHUTH CBOU JEHCTBUS
(TeKylue ¥ miIaHupyeMbie);

VY5-nucare IpocThie CBSI3HBIE COOOIIEHNUS Ha

poheCCUOHAIBHBIC TEMBI

31 -mpaBuna  IOCTPOEHUS  MPOCTBIX W CIIOXKHBIX |- YCTHBIN ONIPOC;
IPEUIOKEHUH Ha PO eCCHOHATbHBIE TEMBI, - TECTHI;
32-0CHOBHBIE 001IEYyNOTpeOUTENbHBIE TIaroyibl (ObITOBast M |- MMCbMEHHBIN OMpoCc;
npodeccruoHanbHas JIEKCHKA); -KOHTpOJIbHas paboTa

33 - JIEKCMYECKM MHHHMMYM, OTHOCSIIMNMCS K ONMCAHHUIO |- IPAKTUYECKOE 3aAHATHUE;
MPEeIMETOB, CPEJICTB M TMPOILEccoB MpodecCUuoHaIbHOM - nuddepeHnnpoBaHHBIN
NEATEIBbHOCTH; 3a4er.

34 - 0cOOEHHOCTH MPOU3HOUICHHUS; MpaBUjla YTEHUSI TEKCTOB
npo¢ecCHOHaIBLHON HAPaBIEHHOCTH.




3. OIEHKA OCBOEHUS YUYEBHOM JJUCIHUTIJIAHBI

3.1 ®OPMbI U METO/bI OHEHUBAHUA

[IpeameToM OLIEHKM caykaT ymeHus W 3HaHusA, npegycmorpeHHsie @I'OI'C CIIO no aucuumumae OI'CO.03
HNuoctpaHHbIN S3bIK B TPO(HECCHOHATBHOM e TEIBHOCTH, HAaIIPaBJIeHHbIE HAa (POPMUPOBAHHUE OOLTUX KOMIETEHIIHIA
KoHTposb 1 o1ieHKa OCBOSHHs Y4eOHOM TUCIUIUIMHEI 110 pa3/ieiaM U TeMaM:

DneMeHThl yuyeOHOU

(DOpMBI N MCTOObI KOHTPOJIA

AU CIHUITITMHBI TGKYHIHﬁ KOHTPOJIb HpOMe)KYTO‘-IHaH aTTecTaluAa
dopma KOHTPOJIA [Iposepsiemsie Y, 3, OK ®opwma xkoHTposia | IIpoBepsemsie
Y, 3, 0K
Pa3nes 1. BBonHO-KOppeKTHBHBII
Kyp¢ Jnpdepenuuposannsiii| Y1, V2, Y3,V4,
Tema 1.1 ITyTs B ipodheccuto V1,V¥2,V3,Y¥4, V531, 32, 33, 34, 3a4eT V5,31, 32, 33, 34,
Tect OKO04., OKO06. OK 01., OK 02.,
OKO04., OKO06.,
Tema 1.2 XKenezHomoposkHbIE IMucemennsiii onpoc | V1, V2, 31, 32, 33, 34,0K04., OK06. OK 09.

npodeccun

Tema 1.3. V3 ucropun TEXHUYECKUX
OTKPBITHH

YcTHBIT onpoc

V1,2, 31, 32, 33, 34, OK02.,
OKO04., OK6.

Pasnen 2. OcHOBHOI Kypc

Tema 2.1. Bunsl Tpancnopra.

IInceMeHHBIN onpoc

V1, V2,31, 32, 33, 34, OKO02.,

OKO06., OK09.
Tema 2.2. Uctopus xene3Hou VYcTHbIl onpoc V1, V2,31, 32, 33, 34, OKO01.,
JIOPOTH. OKO02., OKO06.

Tema 2.3. PazButue xene3Hon

[TnceMeHHBIN onpoc

V1,¥2,31, 32, 33, 34, OK02.,

JIOpOTH 3a pybexom OKO04., OKO06.
Tema 2.4. PazBuTHeE Kejie3HON VYerHbIl onpoc V1, V2,31, 32,33, 34, OKO01.,
noporu B Poccun. 0KO02., OKO06.

Tema 2.5. CoBpeMeHHbIE
TEXHOJIOTHU Ha KEJIE3HOU JI0pore.

IInceMeHHBIN Onpoc

V1, V2,31, 32, 33, 34, OK04., OKO06.




Tema 2.6 O6ecnieuenue 6e30MacHbIX
YCIIOBUM TpyJia B
podecCHOHATLHON e TEIBHOCTH

VYcrHblii onpoc

V1,2, 31, 32. 33, 34, OKO02.,
OKO04., OK06., OK09.

Tema 2.7 DkoJiorusi Ha TpaHCIIOPTE

YcrHblii onpoc

V1,V2,¥3,¥4,31, 32, 33, OKO1.,
OKO02., OK04., OK06., OK09.

Tema 2.8
DJEeKTpUUYECKHUE YCTPOMCTBA U UX
YTUIIU3ALMS

KonTposnbnas
pabora

V1,V2,¥3,V4,31, 32, 33, 34,
OKO01., OK02., OK04., OKO06.,
OK 09.

[TnceMeHHBIN onpoc

V1,V2,¥3,V5,31, 32,33, 34,

Tema 2.9 OKO1., OK02., OK04., OK06.,
310poBbecOeperaroIre TEXHOIOTHH OK 09

Tema 2.10 Tect V1,VY2, V4,31, 32, 33, 34, OKO01.,
Enunuiel usmepenust 0OKO02., OK04., OK06., OK 09.
Tema 2.11 YCTHBIN Ompoc V1,V¥2,V¥3,31, 32, 33, 34, OKO1.,

Merpuueckue eIUHULBI U UCTOPUS
UX Ha3BaHUU

OKO02., OK04., OK06., OK 09.

Paznen 3. UHocTpaHHBIH A3BIK B
npogecCHOHATbHOI 1esITeJIbHOCTH

Tema 3.1
BemectBa 1 marepuassl.

YcTHBIT onpoc

V1,V¥2,V¥3,V4,V5, 31, 32, 33, 34,
OKO01., OK02., OK04., OKO06.,
OK 09.

Tema 3.2
TexXHUYEeCKUI EPEBOI.

YcTHBI onpoc

V1,V2,V¥3,V4,V5, 31, 32, 33, 34,
OKOI., OK02., OK04., OK06.,
OK 09.

Tenta 3.3 [Ipe3enTanus V1,V¥2,V3,V4,V5, 31, 32, 33, 34,
TexHomornueckue KapThl. OKO1., OK02., OK04., OK06.,

OK 09.
Tema 3.4 [Mucemennsrii onpoc | Y1, V2, V3, V4, V5,31, 32, 33, 34,
JIOKOMOTHBHAs CUTHAIU3ALUS OKO1., OK02., OK04., OKO06.,
(paguonepenaya) OK 09.
Tema 3.5 VeIl onpoc V1, V2,V3,V4,V5, 31, 32, 33, 34,
CraHUMOHHBIE YCTPOICTBA OKO1., OK02., OK04., OKO06.,
ABTOMATHKH. OK 09.

Tewma 3.6 Ileperonnsie ycTpoiicTBa
ABTOMATUKH

Tect

V1,V2,V¥3,V4,V5, 31, 32, 33, 34,
OKO01., OK02., OK04., OK06.,




OK 09.

Tema 3.7 MukpormnpoiieccopHbie
CUCTEMBI.

Tect

V1,V2,¥3,V4,V5,31, 32, 33, 34,
OKO01., OK02., OK04., OKO06.,
OK 09.

Pasnen 4. UHocTpaHHBIH A3BIK B
JeJIOBOM OOILIEHHUH.

Tema 4.1 TpynoyctpoiicTBo 1
Kapbepa

[TnceMeHHBIN onpoc

V1,V2,V¥3,V4,V5, 31, 32, 33, 34,
OKOI., OK02., OK04., OK06.,
OK 09.

Tema 4.2 IToptdonno Moaom0ro
CHelHaaInucTa

IIpe3enTanus

V1,V2,V3,V4,V5,31, 32, 33, 34,
OKO01., OK02., OK04., OK06.,
OK 09.

Tema 4.3
HuTepBBIO U cobece0BaHME.

YceTHBI onpoc

V1,V2,V¥3,V4,V5, 31, 32, 33, 34,
OKOI., OK02., OK04., OK06.,
OK 09.




3.2 TUIIOBBIE 3AJJAHUA JJISI IPOBEJAEHUSA TEKYIIEI'O KOHTPOJIA
YCIIEBAEMOCTHA
YCTHBIM OITPOC

1. Onucanue

VYCTHBIN OMPOC MPOBOAUTCS C LEIBIO KOHTPOJISI YCBOEHHBIX YMEHHU W 3HAHUWA H
MOCJIEAYIONIET0 aHATN3a TUUYHBIX OIMIMOOK U 3aTPYIHEHHUM 00ydaronIuxcs B KOHIIE U3yUYECHUS
pasnena/TeMsl.

Ha npoBenenue onpoca OTBOAUTCS 25MUHYT.

2. Kputepuu ouleHKH YCTHBIX OTBETOB
Ouenka «5» «OTJIUYHO» - OOY4YAIONIMWCS TOKAa3bIBAET IMOJHBIE W TIYOOKHE 3HAHUS
MPOTPAaMMHOI0 MaTepuasa, JOTMYHO U ApTyYMEHTUPOBAHO OTBEYAET Ha MOCTaBJICHHBIM BOIPOC,
a TAK>K€E JIOMOJHUTEIBHBIE BOIPOCHI, TOKA3bIBAET BEICOKUN YPOBEHD TEOPETHUECKUX 3HAHMIA.
Onenka «4» «xopomo» - 00y4arouuiicss NOKa3bIBaeT IIyOOKHWE 3HaHUSA IPOrPAMMHOIO
Marepuaia, TpaMOTHO €ro M3JjiaraeT, JOCTaTOYHO MOJTHO OTBEUYAET Ha MOCTAaBJICHHBIM BOIIPOC U
JOTIOJTHUTEILHBIE BOIMPOCHI, yMmeno (GOpMyJIHUpyeT BBIBOJLL. B Toke BpeMs NpH OTBETe
JIOITyCKAET HECYILIECTBEHHBIE MOTPEITHOCTH.
Ouenka «3» «yI0BJIETBOPUTENbHO» - OOYYaIOIIMICS TMOKAa3bIBA€T JOCTAaTOYHBIE, HO HE
rIIyOOKHE 3HAHMSI MPOTPAaMMHOTO MaTepualia; IPH OTBETE HE JIOMyCKAaeT IPyObIX OMMOOK WU
MPOTUBOPEUN, OJHAKO B (POPMYJTUPOBAHUU OTBETA OTCYTCTBYET IOJDKHAS CBSI3b MEXIY
aHAJIM30M, apryMEHTaluel W BhIBoJaMH. [ ToSydeHHs MPaBUIBHOTO OTBETa TpeOyercs
YTOYHSIOIIME BOIPOCHI.
Ouenka «2» «HeylIOBJIETBOPUTEJIbHO» - JaH HEIMOJHBIA OTBET, MPEACTABIAIOMUNA COO00M
Pa3pO3HEHHBIEC 3HAHUS 110 TEME BOIIPOCA C CYIIECTBEHHBIMU OITMOKAMHU.
3. BapuaHnTsbl 3aJaHU:

Tema 2.2. «cTopus xKeJjie3HBIX 10pPODN»
Bapuant 1
From the History of Railways

Modern railways differ greatly from the early ones. The first railways used horses for drawing
trains and were made of wood. In 1767 an ironmaster Abraham Darby started making rails of
cast iron. The first attempts to use the steam engine to draw passenger and freight trains were
made in 1808 by an English inventor Richard Trevithick.

In 1829 George Stephenson, an English engineer, constructed the world’s first steam
locomotive. He also built the first public railway in England between Stockton and Darlington.
He called his new steam engine “Locomotion”. Another railway was built in 1830 to link
Manchester and Liverpool (its length was 48 km).

The early locomotives were small and slow. They were not as safe and powerful as they are
today. Some accidents were caused because of broken rails or wheels. However, the early
trains did not have brakes. Most accidents happened when two trains crashed into each other,
because there were no proper signals.

The first railway carriages were small and uncomfortable. They looked like stage coaches.
In England the carriages for the first class passengers had three compartments with soft seats
and doors at either side. There was a high seat at the back for the guard and a rack on the roof
for luggage. The second class carriages also had roofs, but low sides and hard seats. The third
class passengers had to ride in uncovered wagons without seats at all. These early trains had
neither heating nor lighting.



The prototype of the modern sleeping car appeared in the middle of the 19th century. Its
inventor was George M. Pullman, an American publisher.
The first steam locomotives in Russia were built by the Cherepanovs, father and son. So thanks
to them Russia was among the first countries to use steam traction. The first Russian passenger
28-km railway was built between St. Petersburg and Tsarskoye Selo. The railway was used by
the Tsar's family for travelling to the countryside. The construction of the St. Petersburg -
Moscow railway was finished in 1851. It operated successfully, though many people doubted
the possibility of using steam engines in the Russian winter. In 1891 the building of the world’s
longest Trans-Siberian Railway began; it was put into operation in 1905.

Questions for discussion:

1. What was used to draw the first railways?

2. What were the first railways made of?

3. Who made the first attempt to use steam engine to draw trains?
4. Who invented the first steam locomotive?

5. Were the early railways safe or dangerous?

6. How did the compartments of the first railway carriages look like?
7. Who was the inventor of the modern sleeping car?

8. Who built the first Russian locomotive?

9. What first railways in Russia do you know?

10. When was the world’s longest railway put into operation?

Bapuanr 2
Main Railway Notions

Railway system is a very complex mechanism. It implies track, rail equipment, rolling-stock
and train operation.

Track is one of the basic features of a railway. It is also called the permanent way. It consists
of rails, ties and ballast. The distance between the rails is called the gauge. The standard gauge
in most countries is 1,435 mm while in Russia it is 1,524 mm. Rails rest on sleepers which are
laid on ballast (in the USA sleepers are called ties). The ballast is the foundation of the railway
track.

Rail equipment consists of rails, sleepers, ballast, artificial structures, signals, railroad
constructions (railway stations, tunnels, bridges). They enable the railway to operate
successfully.

Railway Signalling makes railways safe and quick. Safety depends on many factors. It is
determined by the condition of the track and signal techniques. Very important features of the
railroad safety engineering are signal and block systems.

Rolling stock is the term describing all the vehicles that move on a railway. It usually
includes both powered and unpowered vehicles, such as locomotives, carriages, coaches and
wagons. There are various types of trains designed for particular purposes. A passenger train
includes passenger-carrying vehicles. Freight trains comprise wagons or trucks rather than
carriages. Long-distance trains travel between many cities and regions of a country, and
sometimes cross several countries. High-speed trains are designed for passenger travel, and
some high speed systems offer freight service. Trains connecting cities can be divided into two
groups. Inter-city trains do not halt at small stations, trains that serve all stations are usually
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known as local trains. Commuter trains are used for shorter distances serving the city and its
suburbs.

Traffic and convey capacity of the railways is called operation service. Efficient operation
mostly depends on the time-table.

Questions for discussion:

1. What does the term track mean?

2. What is the gauge?

3. What is the gauge standard in Russia?

4. What is the foundation of the track?

5. What is the aim of railway signalling?

6. What does the rail equipment consist of?
7. What does the term rolling-stock mean?

8. What does the term operation service imply?
9. What types of trains do you know?

10. What does efficient operation depend on?

MUCBbMEHHBIA OMPOC.

1. Onucanue

[IncbMEHHBIN ONPOC MPOBOAUTCS C LENIBbK0 KOHTPOJI YCBOCHHBIX YMEHHW M 3HAHUHN U
MOCJIETYIOIIETO aHAIM3a TUIIMYHBIX OIIMOOK M 3aTpyJHEHUI 00y4aromuxcs B KOHIIE U3yUEHUs
pasaerna/TeMBbl.

Ha BeimonHeHue onpoca OTBOAUTCS 45 MUHYT.
2. BapuaHTbl 3a1aHMi:
Tema 1.2. «Kene3znogopoxubie npogeccum»

Bapuant Nel

1. ®opmer Simple (Present, Past, Future) B nmeiictButenpbHoM (Active) U cTpagaTebHOM
(Passive) 3anorax.
(A) Ilepenuiurte mpeUIOKEHUS U MEpPEeBEIUTE UX. BpIMUIINTE CcKa3yeMmble U YKaXKUTE HX
BHJIOBPEMEHHBIC (DOPMBEI.
Model: The train departs at 7 pm. IToe3x oTnpasisercs B 7 4acoB Beuepa.
departs — Present Simple Active (to depart)

1. In 1808, Richard Trevithick built a circular railway in London's Torrington Square. Steam
carriage ‘Catch Me Who Can’ weighed 10 tons and moved at a speed of 15 mph.

2. The railway network connects all the major cities in Britain, and via the Channel Tunnel,
links Britain with France and Belgium.

3. The first railways were constructed in the 16th century but until 1804, only horsepower was
used to haul cars.

4. Electrification of the line will allow a doubling of train weights to 6,000 tonnes.

5. Various kinds of freight, which require protection against unfavorable weather conditions,
are carried in boxcars.

(B) Ilepenummre mpeasioxeHusi, MOCTaBUB IJIAroJ B HYXKHYIO BHIOBPEMEHHYIO (opMy, U
MIEPEBEINTE UX.

11



1. A diesel engine (to belong — Present Simple Active) to the class of internal combustion
engines.

2. After the reconstruction of the old railway bridge, the speed of trains (to increase — Future
Simple Passive).

3. In the 1860s and 70s, Pavel Melnikov (to play — Past Simple Active) a key role in the
expansion of the railway network throughout European Russia.

4. In Europe, double-deck passenger coaches (to use — Present Simple Passive) in four-or five-
car sets on suburban lines where traffic (to be — Present Simple Active) very heavy.

5. At the first railways, sleepers (to lay— Past Simple Passive) down along the railway track.

Bapuanr 2
1. O6opor there + to be
1.(A) Ilepenumunte NpeaaoKeHNUS U IEPEBEANTE HX.
2 There was one case of derailment of a freight train on a section of line at Bexley, Britain.
3.There are plans to open a new high-speed rail line between London, Manchester and Leeds
running at up to 180 mph.
4.There were a lot of passengers waiting for the local train arrival on the platform.

2. [lepenumute npenaoxkeHus:, IOCTaBUB I1aroi to be B HykHYI0 (opMy, U IEPEBETUTE UX.

1. There to be one minute left before the train leaves. (Present)

2. The construction of the first tunnels required much time, effort and money because there to
beno special equipment for it and only manual labor was used.(Past)

3. There to be a considerable increase in passenger traffic in summer. (Future)

Tema 2.1. «Buabl TpancnopTa»

VYupasknenue 1. [logbepure onpeneneHus K raroiam JBUKCHUS:

travel,

cycle,

walk,

sail (2),

fly (2)

go

travel by bike

go by boat

go by plane

go by air

go on foot

go by sea

Yupaxkaenue 2. ConocTaBbTe CI0Ba U3 2-X CTPOYEK U BBIIUIIUTE UX.

(1) ticket, double-decker, traffic (2), means of, car, lorry, pedestrian, go on, go
(2) fumes, jams, driver, transport, foot, bus, price, crossing, lights, by air
Ynpaxknenue 3. BcraBbTe cioBa B IMPOIYCKH MO cMbIcity: means of transport, speed, roads,
miles, petrol

1.Cars are a common sight on ... today, but that wasn’t always true.

2.Back in the days before the car was invented, the only personal ....were the horse and the
bicycle.
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3.The first cars got their power from steam and gas, and had a maximum ... of around nine
miles an hour.

4.In Britain, there was a law stopping cars from going over two miles an hour in towns.

5.At the end of the nineteenth century, cars started to use ... and became much faster than they
had been.

6.Very few people at that time said that cars would change the world in the future. That is
exactly what has happened, though, and since then we have built about eighteen million ... of
roads on the Earth.

VYupa:knenue 4. BecraBbre cioBa B npemnoxenus: roadworks, off , underground, pedestrian,

helicopter

A Is an aircraft that uses rotating wings called blades to fly.

The is a railway system in which electric trains travel mainly below the ground.
There are delays on our main motorway because of

A is a person who is walking in a street.

Is this Mayakovskaya Street or should | get at the next stop?

VYopaxkuenue 5. BeraBbre cioa: take off, a motorbike, trips, an accident, carriages, flight,
traffic jams, check, passenger, get to

It’s dangerous to ride without a helmet.

Some people use cars even for short :
He once waited eighteen hours because of the

If you keep driving fast, you will have
A person who travels on public transport is a

Tema 2.5. «CoBpeMeHHbIE TEXHOJIOTMH HA JKeJIe3HOM 10pore»

Bapuant 1
1) Translate from Russian into English.
ABTOBeJIcHUE 110€3/1a, aBTOMaTUYECKasl YCTAaHOBKA MaplIpyTa; JUCIIETYEPCKasl LIEHTpaIn3anus,
cBeTo(Op; CTPEIOYHBIN MEPEBOJ, KOPOTKOE 3aMbIKaHUE, PEJILCOBAs 11€Tb, MATUCTPAIlb, MYJIBT
YIIPABJICHUS; LICHTP YIPABJIEHHUS; CXeMa Iy TH; KHOMIOYHBIN IEPEKIIOUATEb.
2) Put the verbs in brackets into the correct tense form and translate the sentences into Russian:
1. Centralized traffic control (to provide — Present Simple Active) fast communication of
information. 2. Nowadays train operation on busy sections of trunk lines (to control — Present
Simple Passive) from a single control center. 3. Automation of signaling systems (to prove —
Present Perfect Active) its effectiveness to provide safe passenger and freight traffic. 4.
Regulation of speed, programmed stopping and other functions. (to handle — Present Simple
Passive) automatically by means of automatic train operation. 5. Signaling (to set — Present
Simple Active) the route by a database containing the working timetable. 6. We (to leave — Past
Simple Active) our car in the station approach. 7. Many new electronic devices (to develop —
Present Perfect Passive) to provide safe high-speed traffic. 8. There (to be — Present Simple
Active) no need for a dispatcher to monitor every track since centralized traffic control (to
introduce — Past Perfect Passive). 9. The departure of the train (not to delay — Past Perfect
Passive) regardless the accident.
3) Translate the text using a dictionary if necessary. Do it in written form.
FROM THE HISTORY OF RAILWAY SEMAPHORE
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The railway semaphore was first seen in 1841 on the London and Groydon railway. The first
semaphore was conceived and constructed by Charles Hutton Gregory. This very interesting
device opened a new page in the development of railway signalling. Semaphore gradually
replaced all types of signals of that time.
It was generally a three-aspect signal. When the arm was horizontal it meant «stop», when it
was at an angle of 45° it meant «caution» and when the line was clear the arm was dropped
down so that it could not be seen by the driver.
This type of semaphore signal was in general use on practically every railway of the world.
The present day semaphore signals are of two types. Both give only two indications: «stop»
signals and «distant» signals. The semaphore type signal belongs to the fixed signals in
common use.

BapuanT 2
1) Translate from Russian into English.
ABTOMaTH4UeCcKOE YHOpaBJICHUEC TIOC3I0M, aABTOMATUYCCKOC OrpaXJICHHUC I10C3J1d, 3allnTa,
TOYeYHasi aBToMaTuueckas jokomoruBHas curnanuzarus (AJICT);KIII;
IMOTPAaHHUYHBIC IICPCBO3KHU,; ABUT'ATHCS 110 HHECPIUHU,; U30JINPOBATh, COIIPOTUBJIICHUC.
2) Put the verbs in brackets into the correct tense form and translate the sentences into Russian:
1. Centralized traffic control (to provide — Present Simple Active) fast communication of
information. 2. Nowadays train operation on busy sections of trunk lines (to control — Present
Simple Passive) from a single control center. 3. Automation of signaling systems (to prove —
Present Perfect Active) its effectiveness to provide safe passenger and freight traffic. 4.
Regulation of speed, programmed stopping and other functions. (to handle — Present Simple
Passive) automatically by means of automatic train operation. 5. Signaling (to set — Present
Simple Active) the route by a database containing the working timetable. 6. We (to leave — Past
Simple Active) our car in the station approach. 7. Many new electronic devices (to develop —
Present Perfect Passive) to provide safe high-speed traffic. 8. There (to be — Present Simple
Active) no need for a dispatcher to monitor every track since centralized traffic control (to
introduce — Past Perfect Passive). 9. The departure of the train (not to delay — Past Perfect
Passive) regardless the accident.
3) Translate the text using a dictionary if necessary. Do it in written form.
RAILWAY SIGNALLING DEVELOPMENT
When railways were young signalling was not needed. But as railway traffic grew and speeds
increased something was to be done to tell drivers where the other trains were From this need
first came the railway «policemen». To show drivers that the line was clear, the policeman
stood in «erect position with his arms outstretched». If the line was occupied he stood «at
ease». A red flag was used to stop the train, so the red colour came to mean «stop», and the
trains had a red tail light at night. To give trains time to stop, signals were often displayed at
considerable distance before the danger point they protected. As flags could not be seen
properly red-painted boards and discs were also used to stop the trains. When the telegraph
came into use, railway lines were divided into block sections and the passage of trains from
block section to block section was telegraphed ahead from station to station.
This system was designed to allow only one train to be in a section at a time. It is still the basic
method used by railways.
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3. Kputepnu oueHKH NUCbMEHHbIX 0TBETOB
5» «O0TIMYHO» - B paboTe JaH MOJHBIN, pa3BepHYTHI OTBET Ha IMOCTABJIEHHBIE BOIPOCHI.
W3noxeHne 3HaHUM B NUCBMEHHON (opMe IOJIHOE, CHUCTEMHOE B COOTBETCTBUU C
TpeOOBaHUSAMU Y4YEOHOM mporpamMmbl. 3HaHHE 00 OOBEKTE JEMOHCTpHUpyeTcsd Ha (OHE
NOHMMAHHUS €r0 B CHUCTEME JAHHOW HAyKHW M MEKIUCHUIUIMHAPHBIX cBsi3eld. OTBET M3JI0KEH
JUTEPATYPHBIM SI3BIKOM B TEPMUHAX HAYKH.
«4» «xopomo» - B padoTe JaH MOJHBIA, Pa3BEpPHYTHI OTBET Ha MOCTaBJIEHHBIM BOIPOC,
MIOKa3aHO YMEHHUE BBIIEIUTh CYLIECTBEHHbIE M HECYLIECTBEHHbIE NMpu3HaKku. Mmeronmecs y
o0yyJaromerocss 3HaHUsl COOTBETCTBYIOT MMHHUMAJIbHOMY OOBEMY COJAEpXaHMs NpEAMETHOU
HOATOTOBKY. M310)keHNE 3HaHUH B TMCbMEHHOM (popMe MOIHOE, CHCTEMHOE B COOTBETCTBUU C
TpeOoBaHUSIMM  y4yeOHOM  mporpamMmbl. BO3MOXHBI ~ HECYIIECTBEHHBIE  OIIMOKH B
dopmynupoBkax. OTBET JIOTUYEH, U3JI0KEH JTUTEPATYPHBIM SI3bIKOM B TEPMUHAX HAYKH.
«3» «YAOBJICTBOPHUTEJIBbHO» - JAaH HEIOCTAaTOYHO IIOJIHBIM M HENOCTATOYHO Pa3BEPHYTHIN
orBeT. JlomyIieHsl omMOKN B PacKpbITUM MOHATUN, YNOTpeOiieHnn TepMHHOB. OdopmieHue
TpeOyeT MONpPaBOK, KOPPEKIIUH.
«2» «HeyIOBJIETBOPHMTEJIbHO» - JaH HENOJHBIM OTBET, MpPEICTaBIAIOMUN coOoi
pa3po3HEHHbIE 3HAHMS [0 TEME BOIPOCAa C CYIIECTBEHHBIMH OMIMOKaMU B ONpeeSeHUSX.
N3noxxeHue HErpaMoTHO, BO3MOXKHBI CYIIECTBEHHbIE OLIMOKU.

KOHTPOJIbBHAS PABOTA

1. Onucanne

KontponbHas paboTta NpoBOAMUTCS C II€JIbI0 KOHTPOJSI YCBOCHHBIX YMEHUM, 3HaHUH U
MOCJIEYIOIIETO aHAJIN3a TUTMYHBIX OIIHOOK (3aTpyIHEHUI) 00y YaroXcsl.

JlaHHasi KOHTpOJIbHAs padoTa NpeCcTaBieHa B IBYX BapHaHTAaX.

3ajaHusg TpEANnoyiaraloT IEpeBOA  TEKCTa, OTBETHl Ha BOIIPOCHI, COCTABIICHUE
MPEVIOKEHU W ONpEAeieHUEe BPEMEHM Iaroia. BapuaHTbl MHCBMEHHOW KOHTPOJIBHOM
palboThbI paBHOLIEHHBI IO TPYAHOCTH U OIMHAKOBBI 10 CTPYKTYPE.

IIpu BBIIIOJIHEHUH MOYKHO I10JIb30BAaThCs aHIVIO-PYCCKHUM CIIOBAPEM.

Ha BbInonHeHne KOHTPOIbHON paboThl OTBOAUTCS 90 MUHYT.

Kpurepun onenku pesynsrara:

«OTJIMYHO» - CTABUTCS 3a MPABUIILHOE BBINOJIHEHHE 6 3a1aHUI

«XOPOLLIO»- CTABUTCS 3 MPABUJILHOE BBINOJHEHUE 5 3alaHUI

«YZIOBJIETBOPUTEIILHO) - CTABUTCS 3a ITPABUJIbHOE BBITIOJIHEHUE 4 3aaHUI

«HEYIOBJIETBOPUTEIIBLHO) - CTABUTCS 3a IPABUIIBHOE BHINIOJHEHUE 3 U MEHEE 3aJaHMil.

2. BapuaHTbl 3a1aHu i

Tema 2.8. «JuiekTpryecKkue yCTPOHCTBA U MX YTHIN3AL U
Bapmuanr 1

I. Read the text
THE NATURE OF ELECTRICITY
Practical electricity is produced by small atomic particles known as electrons. It is the
movement of these particles which produce the effects of heat and light.
The pressure that forces these atomic particles to move, the effects they encounter opposition
and how these forces are controlled are some of the principles of electricity.
Accepted atomic theory states that all matter is electrical in structure. Any object is largely
composed of a combination of positive and negative particles of electricity. Electric current
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will pass through a wire, a body, or along a stream of water. It can be established in some
substances more readily than in others, that all matter is composed of electric particles despite
some basic differences in materials. The science of electricity then must begin with a study of
the structure of matter. Matter is defined as any substance which has mass (or weight) and
occupies space. This definition should be broad enough to cover all physical objects in the
universe. Wood, water, iron, and paper are some examples of matter. Energy is closely related
to, but not to be confused with, matter. Energy does not have mass, and it does not occupy
space. Heat and light are examples of energy.

The smallest particle of matter which can be recognized as an original substance was thought
to be a unit called the atom. Recently scientists have found particles even smaller than atoms,
but our theories are still based on the atom. The atom consists of a nucleus and a cloud of
electrons. It is generally agreed that the electrons are small particles of electricity, which are
negative in nature. These particles orbit the nucleus in much the same fashion that planets orbit
asun.

I1. Guess the meaning of the following international words:
Electricity, electron, effect, structure, combination, material, mass, energy, atom, orbit

I11. Give the English equivalents for the words below:
1) mpousBoauTh; 2) yacTuia; 3) TEIJIO W CBeT; 4) HampspDKkeHHe; 5) cuia; 6) BeuecTBo; 7)
MOJIOKUTENbHBIN; 8) oTpuLlaTeNbHbIl; 9) anekrpudeckuii Tok; 10) Bec; 11) anpo

IV. Translate into Russian the words and expressions from the text:
1) atomic particle; 2) effects of heat and light; 3) encounter opposition; 4) principles of
electricity; 5) composed (of); 6) pass through a wire; 7) structure of matter; 8) occupy space; 9)
physical objects; 10) a cloud of electrons; 11) in the same fashion.

V. Complete the sentences using the text:

1. Electricity is produced by ...

2. The effects of heat and light are produced by ...
3. According to the accepted atomic theory all matter is ...
4. Any object is composed of ...

5. Matter is defined as ...

6. Energy must not be confused with ...

7. The atom consists of ...

8. The smallest particle of matter is ...

9. Most theories are based on ...

10. Electrons are ...

VI. Answer the questions:

1) What are the principles of electricity? 2) What must the science of electricity begin with? 3)
Avre there any differences between energy and matter? What are they? 4) What is recognized as
an original substance now?
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Bapuant 2
I. Read the text
ELECTRIC CURRENT
The electric current is a quantity of electrons flowing in a circuit per second of time. The unit
of measure for current is ampere. If one coulomb passes a point in a circuit per second then the
current strength is 1 ampere. The symbol for current is I.
The current which flows along wires consists of moving electrons. The electrons move along
the circuit because the e .m. f. drives them. The current is directly proportional to the e. m. f.
In addition to traveling through solids, however, the electric current can flow through liquids
as well and even through gases. In both cases it produces some most important effects to meet
industrial requirements. Some liquids, such as melted metals for example, conduct current
without any change to themselves. Others, called electrolytes, are found to change greatly
when the current passes through them.
When the electrons flow in one direction only, the current is known to be d. c., that is, direct
current. The simplest source of power for the direct current is a battery, for a battery pushes the
electrons in the same direction all the time (i.e., from the negatively charged terminal to the
positively charged terminal).
The letters a. c. stand for alternating current. The current under consideration flows first in one
direction and then in the opposite one. The a. c. used for power and lighting purposes is
assumed to go through 50 cycles in one second.
One of the great advantages of a. c. is the ease with which power at low voltage can be
changed into an almost similar amount of power at high voltage and vice versa. Hence, on the
one hand alternating voltage is increased when it is necessary for long-distance transmission
and, on the other hand, one can decrease it to meet industrial requirements as well as to operate
various devices at home.
Although there are numerous cases when d. c. is required, at least 90 per cent of electrical
energy to be generated at present is a. c. In fact, it finds wide application for lighting, heating,
industrial, and some other purposes.

I1. Guess the meaning of the following international words:
electric, ampere, symbol, proportional, industrial, metal, electrolyte, battery, generate.

[11. Give the English equivalents for the words and word combinations below:

a. 1) Teub, mporekarb; 2) ueNb, cxema; 3) eAuHULA usMepeHus; 4) mnposox; 3S)
AIIEKTPOABMKYIIIAs cuia; 6) TBEpIOe TeNlo; 7) KUIAKOCTh; 8) MPOBOAUTH (TOK); 9) MCTOUHHUK
sHepruu; 10) mocrostHHbIN TOK; 11) mepemMeHHbIN TOK; 12) HanpsikeHue.

IV. Give Russian equivalents for the following:

b. 1) to meet industrial requirements; 2) melted metals; 3) to push in the same direction; 4)
negatively (positively) charged terminal; 5) power and lightning purposes; 6) long-distance
transmission; 7) to operate devices; 8) to find wide application.

V. Say whether these sentences are true or false:

1. The symbol for current is I.

2. The electric current can flow only through liquids.

3. The current can be of two types: direct current and alternating current.
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4. The alternating current flows in one direction.

5. A battery is the simplest source of power for the direct current.

6. Direct current finds wider application than alternating current.

7. Electrolytes don’t change greatly when current passes through them.

8. One of the great advantages of alternating current is the ease with which voltage can be
changed.

VI. Fill in the blanks, using the words from the box:
direct current, solids, conduct, electric current, liquids, voltage, alternating current

« A quantity of moving electrons flowing in a circuit is the a)

* The current can flow through b) and c) :

« Some liquids d) current without any change to themselves.

« When the electrons flow in one direction only, the current is known to be e)

« The current flowing first in one direction and then in the opposite one is f) :

« Such advantage of alternating current as alternating g) finds wide industrial and
household application.

TECTBI.
1. Onucanue
TecTbl MPOBOAATCS C 1IE€JIbI0 KOHTPOJIS YCBOCHHBIX YMEHUM, 3HAHUM W MOCJIEAYIOIIETO
aHaJIM3a TUIMYHBIX OMHUOOK (3aTpyIHEHHI) 00yJaromuxcs B Hayayie u3ydeHus 1 pasaena.

2. BapuanTsl 3a1aHuii
®opMoOil BXOAHOTO KOHTPOJIA MO JucUMIUIMHE WHOCTpaHHBIA s3bIK (QHIIMHACKUMN)
SBIISIETCS JICKCUKO-TpaMMaTHYeCKUi TecT. Bpems BeimonHeHus paboThl 30 MUHYT.
1 BapuaHT

1. The Republic of Buryatia ....in the south part of the East Siberia, southwards and eastwards
of the lake Baikal.

a) is situated b) separates c) divides
2. Buryatia .... fresh, mineral and thermal waters.

a) Is used in b) belongs c) isrichin
3.1getupat... 70’clock in ... morning.

a)-,a b) the, a C) -, the

4. This is ... my room. ... room is large.

a) -, the b) -,- c)-,a

5. ... Volga flows in ... central part of ... Russia.

a) the, a, - b) -, the, the c) the, the, -
6. We live ... a nice place.

a) on b) in C) at

7. My mother gets up ... 6 o’clock.

a) at b) to ) in

8. The trousers are made ... cotton

a)in b) of C) at

9. Every day he ... to the sports club.

a) has gone b) go C) goes
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10. Look, she ... in the bedroom.

a) sleeps b) slept c) is sleeping
11. There is not .....ink in my pen.
a) some b) many c) any
12. It’s ..... to go there by car.
a) cheap b) cheaper C) cheapest
13. I’ve never seen ..... that tall before.
a) anybody b) somebody c) everything
14. Poetry of the 19th century is beautiful. ... influence on our generation is great.
a) she b) her C) its
15. We enjoyed the concert very .....
a) much b) many
2 BapuaHT
1. Lake Baikal ........ in the centre of the Asia
a) is famous for b) is situated c)isrichin
2.We ...... of the fact that we live in such a wonderful place.
a) are b) are proud c) have
3.1live on ... second floor.
a) the b) a Cc)—
4.1 go to college by ... bus.
a) - b) the c)a
5. Moscow is ... big city.
a)a b) the Cc)—
6. He goes ... the seaside every summer.
a) to b) in C) at
7. The plates are ... the table.
a) at b) on c)in
8. He came ... London last week.
a)in b) to Cc)—
9. Yesterday my brother ... a new bicycle.
a)buy b) will buy C) bought
10. They ... already the blackboard.
a) cleaned b) have cleaned c) are cleaning
11. Where is Mark? He....... shower.
a) has b) is having c) has had
12. There are not .... mistakes in your test.
a) much b) some C) any
13. Did .... ring me up?
a) somebody b) nobody c) anybody
14. The film was really.....
a) bored b) boring
15. He is two years ..... than you.
a) older b) old c) oldest
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Kpurepuu ouenkmu:
«5» - 3aganus BeinoaaeHb HA 91-100 %

«4y - 3aganus BeInoaHEeHb HA 71-90%
«3» - 3aganus BeIoaHEHBI HA 51-70%

«2» - 3ajaHNs HE BBINOJHEHBI Wi uMmeercs oonee 50% ommubok

ITAJIOH OTBETOB:

lBapuanr | 1 |2 | 3 | 4 | 5 | 6 7 1819101112 | 13|14 | 15
A A c|c|]c|B|A|]C]|A
2Bapuant | 1 | 2 |3 | 4 | 5 | 6 /7 |89 1011|1213 | 14 |15
B | B c|B|B|C | C|BJ|A

4. OHEHOYHBIE MATEPUAJIbI 1J151 MNPOMEXYTOUYHOM ATTECTAIIUA
11O YYEBHOU JUCHUIIJIMHE

Onenka ocBoeHUs y4eOHOM AMCHMIUIMHBI NpPEeIyCMaTpUBAET clEAyrolue (QopMbl
IPOMEKYTOYHOHN aTTeCTalMU:

CemecTpsnl
3 4 5 6 7 8
Huppepenyupo- | Juppepenyupo- | Auppepenyupo- | Hugpgpepernyupo- | Augppepernyupo- | Juppepenyupo-
BAHHBIU 3a4em BaHHbIIL 3a4em BAHHBIU 3a4em BAHHBIU 3a4em BAHHBIU 3a4em BAHHBIU 3a4em

rjiaroiJia.

NTU®PEPEHIIUPOBAHHBIN 3AUET
1. YciaoBusi aTTecTaluM: aTTeCTalus MPOBOIUTCA B Gopme nuddepeHITnpOBaHHOTO
3a4era MO 3aBEpIICHUIO OCBOCHHUS Y4YeOHOro Marepuaja JUCHUILUIMHBI U TOJOKHTEIBHBIX
pe3yiibTaTax TEKyIIEero KOHTPOJIS YCIIeBAEMOCTH.
2. Bpems arrectanun: Ha nmpoBeieHne aTTecTaliui OTBOAUTCS 2 aKaJeMUYECKUX Jaca.

3 CemecTtp
JlanHast KOHTpOJIbHAsI paboTa MpeAcTaBiIeHa B IByX BapHaHTaxX. 3aJaHusl IPEANoaararoT
NnNEpEBOA TCKCTA, OTBCTHI HAa BOIIPOCHI, COCTABJICHUC HpC}IJ’IO)KCHI/Iﬁ H OIIpEeaAcCICHNC BPEMCHU

[Tpu BBITOTHEHUH MOKHO TIOJIB30BAThCS AHTIIO-PYCCKUM CIIOBAPEM.
MakcumanbHOE BpeMs BBITIOTHEHUS 3adaHus 90 MUHYT.
Kpurepun onenku pesynbrara:

«5» - 3amanus BeinonaHeHsl Ha 91-100 %
«4y - 3aganus BeItoaHeHb! Ha 71-90%
«3» - 3aganus BeIToMHEHB! HA 51-70%
«2» - 3aaHUs HE BBIIMOIHEHBI WIIH nMmeeTcst 0onee 50% ommbok
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1 BapuanT
1. Read and translate the text.
THE FIRST RAILWAYS

Railways play a very important part in the economic and political development of a
country. Although we have now faster and more modern means of communication and
transport, railways are still the safest and the most popular means of transportation.

It is difficult for the people living in the 21st century to imagine the opposition to the
building of the first railroads. Many people were afraid of the railways and did all in their
power to stop railway construction. The early railways were not like the railways we know
today. The very first railways used horses for drawing trains and were built for transporting
such products as coal, ore and timber. Later on, horse-powered railways appeared in large
cities and were used as passenger transport. But these railways did not last long. The invention
of steam locomotives made the railway the most important of all means of transportation.

2. Answer the following questions.

a. What are the most safest and popular means of transportation?

b. What did the first railways use for drawing trains?

3. Finish up the sentences.

a. Later on, horse-powered railways appeared............

b.Many people were afraid of the..............

4. Find in the text the sentences in:

a) Present Simple b) Past Simple Passive c) Past Simple
(mOTYEepKHUTE TJIAroJI-CKa3zyeMoe)

5. Make a sentence using the following words.

The, were ,not, like, the, railways, we, know, today, early, railways

6. Fill the gaps.

a. The UK (coctout u3) 4 parts, which are: England, Scotland, Wales and Northern Ireland.
b. Their (ctonuusl) are London, Edinburgh, Cardift and Belfast.

c. The UK (ombiBaetcs) the Atlantic ocean and the North Sea.

7. Answer the questions.

a. Who is officially the head of the state in Great Britain?

b. Which building is the official residence of Queen Elizabeth 11?

2 BapuaHT
1. Read and translate the text.
THE STEAM LOCOMOTIVE

In 1808 Richard Trevithick, an Englishman, made an attempt to use steam power to
draw passenger and freight trains. He demonstrated his working model in London. People
looked at his little locomotive with great interest when it ran on a circular track of iron rails.
For a shilling the public could travel in a carriage drawn by the steam engine. It developed a
speed of 12 mph (19.2 kph). But one day a rail broke and the locomotive overturned. Many
people did not believe it was possible to make steam engines suitable for service. However, in
1829 George Stephenson, an English inventor and engineer, built a successful steam
locomotive which he called the "Rocket". This locomotive was much smaller and lighter than
the steam engines developed later on, and it was much slower. Nevertheless, it could draw a
small train of loaded cars on the railway and developed a speed of 13 mph (21 kph).
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The "Rocket" is now demonstrated in the British Museum.
2. Answer the questions to the text.
a.When did Richard Trevithick make an attempt to use steam power to draw passenger and
freight trains?
b. Who built a successful steam locomotive which was called the "Rocket"?
3. Finish up the sentences using the text.
a.Many people did not believe it........................ steam engines suitable for service.
b, , 1t could draw a small train of loaded cars on the railway.
4. Find in the text and write down the sentences in:
a. Past Simple Passive, b) Past Simple. (momuepkuuTe TI1Aar0I-cKazyeMoe)
5. Make a sentence using the following words:
interest, People, at, little, looked, his, with, locomotive , great
6. Fill the gaps.
a. The UK (otneneno or) European continent by the English Channel.
b. The flag of the United Kingdom (na3siBaetcst ) as the Union Jack and (coctouT) of three
Crosses.
c. The area of the UK (cocrapmnsier) 244,100 square kilometers.
7. Answer the questions.
a. How many Houses does the British Parliament consist of?
b. What is the City of London famous for?

4 CemecTtp
1 BapuanT
HNucTpykuus.
1. 3agaHus mnpeanonaraloT MEpeBOJl TEKCTa, OTBEThl Ha BONPOCHI, COCTABJICHHE
npeyIoKEHUI U OTpe/iesieHe BpEMEHH TJ1aroJa.
2. I1pu BBINOIHEHUH MOXKHO T10JIb30BaThCs AHIJIO-PYCCKUM CIIOBApPEM.
3. MakcumanbHO€E BpeMs BBINTOIHEHUS 3a1aHus 40 MUHYT.
4. Kputepun OLIEHKHU pe3yabpTara:
«OTJIMYHO» - CTABUTCS 3a MPABUIILHOE BBIIIOJIHEHUE 5 3aJaHUI
«XOpOILIO»- CTABUTCS 32 NPaBUIIBHOE BBINIOJIHEHUE 4 3a1aHUN
«YJIOBJIETBOPUTENLHOY» - CTABUTCS 32 MPaBUIILHOE BBITIOJIHEHUE 3 3a/1aHU
«HEYIOBIIETBOPUTEIBHO) - CTABUTCS 32 MIPABUIILHOE BHITIOJHEHUE 2 U MEHee 3aJaHuil.

1. Read the text and translate it.

The history of railways

The railway is a good example of a system evolved in various places to fulfil a need and
then developed empirically. In essence it consists of parallel tracks or bars of metal or wood,
supported transversely by other bars — stone, wood, steel and concrete have been used — so
that the load of the vehicle is spread evenly through the substructure. Such tracks were used in
the Middle Ages for mining tramways in Europe; railways came to England in the 16th century
and went back to Europe in the 19th century as an English invention.

English railways

The first Act of Parliament for a railway, giving right of way over other people's
property, was passed in 1758, and the first for a public railway, to carry the traffic of all
comers, dates from 1801. The Stockton and Dailington Railway, opened on 27 September
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1825, was the first public steam railway in the world, although it had only one locomotive and
relied on horse traction for the most part, with stationary steam engines for working inclined
planes.

The obvious advantages of railways as a means of conveying heavy loads and
passengers brought about a proliferation of projects. The Liverpool & Manchester, 30 miles
(48 km) long and including formidable engineering problems, became the classic example of a
steam railway for general carriage. It opened on 15 September 1830 in the presence of the
Duke of Wellington, who had been Prime Minister until earlier in the year. On opening day, the
train stopped for water and the passengers alighted on to the opposite track; another
locomotive came along and William Huskisson, an MP and a great advocate of the railway,
was killed. Despite this tragedy the railway was a great success; in its first year of operation,
revenue from passenger service was more than ten times that anticipated. Over 2500 miles of
railway had been authorized in Britain and nearly 1500 completed by 1840.

Britain presented the world with a complete system for the construction and operation
of railways. Solutions were found to civil engineering problems, motive power designs and the
details of rolling stock. The natural result of these achievements was the calling in of British
engineers to provide railways in France, where as a consequence left-hand running is still in
force over many lines.

2. Answer the questions to the text.

a. When did railways come to England?

b. What was the first steam public railway in the world?

c. Did Britain or France present the world with a complete system for the construction and
operation of railways?

3. Finish up the sentences.

a. The Liverpool & Manchester, 30 miles (48 km) long and.............. ,became the classic
example of a steam railway for general carriage.

| ,the train stopped for water and the passengers alighted on to the opposite track.

c. The natural result of these achievements...................... engineers to provide railways in
France.

4. Find in the text and write down the sentences in:

a. Present Simple b. Past Simple Passive c. Past Simple Active d. Past Perfect Passive

5. Make up a sentence using the following words:

opened, It, in, of the, on 15 September 1830, the presence, Duke of Wellington.

2 BapuaHT

1. Read the text and translate it.

Diesel locomotives

Diesel locomotives are most commonly diesel-electric. A diesel engine drives a dynamo
[generator] which provides power for electric motors which turn the drive wheels, usually
through a pinion gear driving a ring gear on the axle. The first diesel-electric propelled rail car
was built in 1913, and after World War 2 they replaced steam engines completely, except
where electrification of railways is economical.

Diesel locomotives have several advantages over steam engines. They are instantly
ready for service, and can be shut down completely for short periods, whereas it takes some
time to heat the water in the steam engine, especially in cold weather, and the fire must be kept
up while the steam engine is on standby. The diesel can go further without servicing, as it
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consumes no water; its thermal efficiency is four times as high, which means further savings of
fuel. Acceleration and high-speed running are smoother with a diesel, which means less wear
on rails and roadbed. The economic reasons for turning to diesels were overwhelming after the
war, especially in North America, where the railways were in direct competition with road
haulage over very long distances.

Electric traction

The first electric-powered rail car was built in 1834, but early electric cars were battery
powered, and the batteries were heavy and required frequent recharging. Today electric trains
are not self-contained, which means that they get their power from overhead wires or from a
third rail. The power for the traction motors is collected from the third rail by means of a shoe
or from the overhead wires by a pantograph.

Electric trains are the most economical to operate, provided that traffic is heavy enough
to repay electrification of the railway. Where trains run less frecuently over long distances the
cost of electrification is prohibitive. DC systems have been used as opposed to AC because
lighter traction motors can be used, but this requires power substations with rectifiers to
convert the power to DC from the AC of the commercial mains. (High voltage DC power is
difficult to transmit over long distances.) The latest development of electric trains has been the
installation of rectifiers in the cars themselves and the use of the same AC frequency as the
commercial mains (50 Hz in Europe, 60 Hz in North America),which means that fewer
substations are necessary.

2. Answer the questions to the text.

a. What does a diesel engine drive?

b. When was the first electric-powered rail car built?
c. Are electric trains economical?

3. Finish up the sentences.

a. Diesel locomotives have several................. over steam engines.

b. The power for the traction motors............... he third rail by means of a shoe or from the
overhead wires by a pantograph.

c. The latest development of electric trains............. of rectifiers in the cars themselves.

4. Find in the text and write down the sentences in:

a. Present Simple b. Past Simple c. Present Perfect Passive

5. Make up a sentence using the following words:

can, further, the diesel, without, go, servicing, it, consumes, as, water, no.

5 Cemectp

JlanHas KOHTpOJIbHAsI paboTa MpeAcTaBiIeHa B IByX BapHaHTaxX. 3aJaHusl IPEANnoaararoT
MEepeBOJl TEKCTA, OTBEThl HAa BOIPOCHI, COCTABICHUE MPEIIOKEHUN U ONpe/IesieHUe BPEMEHHU
mIaroia.

[Ipu BBITIOJIHEHUH MOYKHO TI0JIb30BAaThCS aHTJIO-PYCCKUM CIIOBAPEM.

MakcumanbHOE BpeMs BBITIOTHEHUS 3a1aHus 90 MUHYT.

Kpurepun onenku pesynsrara:

«5» - 3aganus BeimoaHeHs! Ha 91-100 %

«4y - 3aganus BeIToaHeHb! HA 71-90%

«3» - 3amanus BeIIOIHEHE! Ha 51-70%

«2» - 3aaHUs HE BBINOIHEHEI WK nMmeeTcst 0oaee 50% ommbok
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1 BapuanT
Meters.
1. Read the text and translate it in written form.

Among the most common meters used there are the ohmmeter, the ammeter and the
voltmeter. The ohmmeter is used to measure the value of resistance. It consists of a
milliammeter calibrated to read in ohms, a battery and resistors. The meter is connected in
parallel and the circuit is not opened when its resistance is measured. The readings on the scale
show the measured value.

The ammeter is used to measure the value of current. When the ammeter is used the
circuit should be opened at one point and the terminals of the meter should be connected to it.
One should take into consideration that the positive terminal of the meter is connected to the
positive terminal of the source the negative terminal - to the negative terminal of the source.

The ammeter should be connected in series. The readings on the scale show the
measured value.
2. Find Russian equivalents to the phrases:
a) metres — b) measure - ¢) curcuit— d) take into consideration - ) source -
3. Answer the questions:
a) What are there among the most common metres?
b) What is onmmeter used for?
¢) What do the readings on the scale show?
4. Finish up the following sentences:
a) Among the most common meters used there are...
b) The meter is connected in......is not opened when its resistance is measured.
¢) The ammeter is used.........
5. Write out from the text the sentences in:
a) Present Simple Passive b) Present Simple
(TTomyepkHUTE TIIATOJI-CKa3yeMOe)
6. Match the word with its Russian equivalents

1.a camera a) KOMITBIOTED

2.a microwave oven b) mBeitHast marHa

3.aTV set C) cTUpasibHasi MalllMHA

4.a vacuum cleaner d) meutecoc

5.a sewing machine €) TeleBU30p

6.a computer f) xamepa

7.a refrigerator g) MHKPOBOJHOBAs IEYb

8.a washing machine h) xomonuIbHUK
BapuanT 2

1. Read the text and translate it in written form.
An electric circuit.

An electric circuit is an interconnection of electric components, usually to perform some
useful task, with a return path to enable the charge to return to its source. The components in
an electric circuit can take many forms, which can include elements such as resistors,
capacitors, switches, transformers and electronics. Electronic circuits contain active
components, usually semiconductors, and typically exhibit non-linear behavior, requiring
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complex analysis. The simplest electric components are those that are termed passive and
linear: while they may temporarily store energy, they contain no sources of it, and exhibit
linear responses to stimuli.

2. Find Russian equivalents to the phrases:

a. electric circuit - ; b. resistors - ;

C. capacitors - ; d. semiconductors - ; e. linear -

3. Answer the questions:

a. What is an elecrtic curcuit?

b. What can the components in an electric curcuit take?

c. What are the active components containing in electric curcuit?

4. Finish up the following sentences:

a.An electric circuit is.........

b. The components in an electric circuit can take many forms, which can include
elements.............

c. The simplest electric components................ccvvvevennn..

5. Write out from the text the sentences in:

a. Present Simple Passive, b. Present Simple

(IToquepkHUTE TIAT0JI-CKa3yeMOoe)

6. Match the word with its Russian equivalents:

1.a dishwasher a) Onenuep
2.a hair-drier b) paauro
3.aradio C) TocTep
4.a mixer d) mocynomoeuHas maimHa
5.a blender €) MHKCEp
6.a toaster f)ytror
7.aniron g) Toctep
8. an air conditioner h) kongumonep
6 Cemectp
NucTpykums

1. 3agaHus mnpeanonararoT MEpPEeBOJ TEKCTA, OTBEThl HA BOIPOCHI, COCTaBIEHHUE
IIPEIOKEHHI U ONIPECIICHUE BPEMEHU IV1aroa.

2. ITpu BBINOJTHEHUU MOXKHO MOJIb30BATHCS AHITIO-PYCCKHUM CJIOBapeEM.

3. MakcumaiabHOE BpeMs BBIIOIHEHUS 3a1aHus 45 MUHYT.

4. Kputepun OLIEHKHU pe3yapTara:

- OTJIMYHOY» - CTABUTCS 3a MPABWIBHOE BBINOJIHEHUE 4 3aTaHUI

- «XOPOIIO»- CTAaBUTCS 3@ MPABUIILHOE BBINOJIHEHUE 3 3aJaHUI

- «yJOBJIETBOPUTEIBHO» - CTABUTCS 3@ MPAaBUJIbHOE BBINOJIHEHHE 2 3aJaHUI

- «HEYIOBJIETBOPUTEIILHO» - CTABUTCS 3a MPAaBUIILHOE BBINIOJHEHUE 13a1aHus.

1 BapuanT
1. Translate the text in written form
Conductors are materials having a low resistance, so that current easily passes through
them. The lower the resistance of the material the more current can pass through it. The most
common conductors are metals, and silver and copper are the best of them. The advantage of
copper is that it is much cheaper than silver. Thus copper is widely used to produce wire
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conductors. One of the common functions of wire conductors is to connect a voltage source to
a load resistance. Since copper wire conductors have a very low resistance a minimum voltage
drop is produced in them. Thus, all of the applied voltage can produce current in the load
resistance.

It should be taken into consideration that most materials change the value of resistance
when their temperature changes.

Metals increase their resistance when the temperature increases while carbon decreases
its resistance when the temperature increases. Thus, metals have a positive temperature
coefficient of resistance while carbon has a negative temperature coefficient. The smaller is the
temperature coefficient or the less the change of resistance with the change of temperature, the
more perfect is the resistance material.

2. Answer the questions according to the text

1. What is the text about?

2. What materials are called conductors?

3. What is the advantage of copper compared with silver?

4. What is the most common function of wire conductors?

5. Why is a minimum voltage drop produced in copper conductors?

6. What is the relation between the value of resistance and the temperature in carbon?
3. Find in the text sentences in:

a. Present Simple b. Participle | Simple c. modal verb can

4. Make up one sentence using the following words:

all, thus,applied, the,can,current, voltage,of,produce, resistance, load,the, in.

2 BapMaHT
1. Translate the text in written form

Materials having a very high resistance are called insulators. Current passes through
insulators with great difficulty.

The most common insulators are air, paper, rubber, plastics.

Any insulator can conduct current when a high enough voltage is applied to it. Currents
of great value must be applied to insulators in order to make them conduct. The higher the
resistance of an insulator the greater the applied voltage must be.

When an insulator is connected to a voltage source, it stores electric charge and a
potential is produced on the insulator. Thus, insulators have the two main functions:

1. to isolate conducting wires and thus to prevent a short between them and

2. to store electric charge when a voltage source is applied.

2. Answer the questions according to the text

a. What are insulators?

b. Which are the most common insulators?

c. When can any insulator conduct current?

d. When does an insulator store electric charge?

3. Find in the text sentences in:

a. Present Simple b. modal verb can c¢. modal verb must
4. Make up one sentence using the following words:

most, insulators, air, are, the, common, paper, rubber, plastics.
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7 CemecTp
Bapuanr 1
HNuctpykuuns
1. 3agaHus mpeArnonaraloT IEpPeBOl TEKCTa, OTBETHI HA BOIMPOCH, COCTABJICHHE
MPEIJIOKCHU U OTIPE/ICIICHUE BPEMEHU TJIaroJa.
2. Ilpu BBITOTHEHUH MOYKHO TTOJIH30BATHCS aHITIO-PYCCKUM CIIOBApEM.
3. MakcumanbpHOE BpeMs BBIITOIHEHUS 3a1aHUs 45 MUHYT.
4. Kputepun OLIEHKHU pe3yipTara:
OreHka «5» - 3aganus BeinmoiHeHsl Ha 90%-100%
Orenka «4» - 3amanus BeImoHeHb! Ha 80%-89%
Onenka «3» - 3amanus BoIosHeHs Ha 70%-79%
Orenka 2» - 3a1aHus BBITIOJIHEHEI MeHee ueM Ha 70%

Litter is a problem in our cities.

Litter is garbage — like food, paper and cans — on the ground or in the street. Where many
people live together, litter is a problem. People don’t always put their garbage in the bins. It’s
easier to drop a paper than to find a bin for it. But litter is ugly. It makes the city look dirty, and
it spoils the view.

The wind blows papers far away. Often they are difficult to catch. When they blow against a
fence, they stay there. This fence is a wall of garbage.

Litter is a health problem, too. Food and garbage attract animals, which sometimes carry
disease.

Some people want to control litter. They never throw litter themselves, and sometimes they
work together in groups to clean up the city. In most places litter is against the law. The law
punishes people who throw garbage in the streets. They usually pay a fine, and occasionally
they go to jail.

Two famous sayings in the United States are: “Don’t be a litterbug!” and “Every litter bit
hurts!”

IIpouuraiite ciaeaywinue yreep:xaenus. Onpegegure UX COOTBETCTBHE NMPOYUTAHHOMY

TEKCTY.

1) Litter is a problem among people.

a) true b) false C) not stated
2) Garbage makes our cities look awful.

a) true b) false C) not stated
3) There are special bins for different garbage in the streets.

a) true b) false C) not stated
4) Papers are easy to catch.

a) true b) false C) not stated
5) Garbage attracts sick animals.

a) true b) false C) not stated
6) People don’t care about litter.

a) true b) false C) not stated
7) Groups that clean litter are in every city.

a) true b) false C) not stated
8) There are no antipollution laws.

a) true b) false C) not stated
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9) In some countries people are punished for dropping litter.

a) true b) false C) not stated

10) The saying “Don’t be a litterbug!” asks you not to drop litter in the streets.

a) true b) false C) not stated

1.Jonumure NP eAI0KEHUs], UCIOJIb3YS BO3BpaTHbIE MeCTOUMEHHS

myself/yourself/ourselves/himself/herself/themselves/itself:
1.Be careful! That plate is very hot. Don’tburn ................ .

2.1 got out of the bath and dried ............... with a towel.
3.When people are alone, they often talk to ............. )
4.The police say that the woman shot ............... with a gun.

5.Good- bye! Have a good holiday and look after ...................
2. JlonoJiHMTE MPEIJI0KeHNUsI, HCIOJIb3Ysl CTOsIIINE B CKOOKaxX riaronl B Past Continuous
niu Past Simple :

| (get) up early this morning, I ................... (wash),

..................... (dress) myselfand then I ......................(have) breakfast.

2.The postman .................... (come)while I ..................... (have) lunch.

3.The boys .....ccevvevvnnnns (break) a window while they ....................... ( play) football.
4.1 was late, but my friends ..................... (wait) forme whenI..................... (arrive).
S%What ... (you/do) on Saturday evening?* “I went to the cinema”.

6.“What ....................... (you/do) at 9.30 on Saturday evening?” “I.....................

(watch) a film in the cinema”.
3.CocTaBbTe NpeAJIOKeHH S, BbIPAKAKIIHeE NPOCh0Y, B 3aBHCUMOCTH OT CUTYAIlUH.

Hcnonw3yiiTe Beipaxkenust Can you...... ?/ Could you ....... ?/ Can I........2/ May IL........... ?

1.(We are having dinner. You want me to pass the salt.)

D 1T 7 1 I 1 L ?

2.(You want me to turn off the radio.)

YOU SAY £0 TM1€: oottt ettt ettt et et et e et e e et e et e et e e e e nee e e ?

3.(You want my pen.)

YOU SAY 10 TN ettt ettt et e e e e e e e et e et e e e e ?

4.(You are in my house. You want to use my phone.)

YOU SAY 10 TN ettt ettt e e e et ?

5.(You want me to give you my address.)

B (0 U7 | (0 1 TP ?
2 BapuaHT

The role of technical progress

The scientific and technical revolution has changed our life very much. The computers, the
mobile phones and other digital devices have entered our everyday life. The atomic, space and
energy age was followed by the age of computers. The tasks which had seemed eternal before
have been solved one by one by computers. During the last decade many fundamental changes
occurred because of electronic devices. It is even difficult to imagine the social and economic
consequences of the microelectronic revolution. The large use of computers has influenced our
life in such a way that it was difficult to imagine 15 or 20 years ago. On the one hand,
computers have simplified our life greatly. If you typed a text on the typewriter and made a
mistake you had to type the whole page again.
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Making several copies of the same document used to bea difficult job too. But now it's quite
different. Correcting mistakes is easy. Computer also helps us to buy goods, find information,
book tickets, make presentations and annual reports, and make difficult calculations. Time is
saved for leisure. Leisure time is also influenced by computer and other periphery devices.
You no longer go to the music shops - many things are available on the internet. You needn't
write letters to your relatives or friends — you can send an e-mail. And your photo albums are
on computer too. Computer games are probably also a part of your free time. They became
more and more realistic and complicated, and for many people it becomes impossible to tear
themselves away. This means that electronic devices, such as computer and TV set are used
mostly for entertainment and consume most of the time that could be spent on work, going for
a walk and sleeping. Man becomes a slave of the devices which were designed to make him
stronger.

Is there a way out? In fact, there is, but many people don't know it and are still slaves. The best
decision is not to give these equipment place in your heart. They should do their work. And
when you have a rest, prefer real communication to virtual one and living an active life to
watching films about crime. Then electronics will be not our lord or enemy but our friend!
Answer the following questions to the text.

1. The technical revolution has changed our life very much, hasn't it?

2. What were the predecessors of computer age?

3. Do computers make our life easier and simpler? In what way?

4. Computers influence our free time too, don't they?

5. Can you get music and video on the internet? What other infortnation can you get there?

6. What devices became compatible with computer during the last years?

7. Can you communicate with your friends on the Internet? Do you like such communication
or you prefer real one?

8. In what way do computer games influence the people?

9. Do electronic devices take all our free time?

1.IlpeoOpa3yiite cjoBa B CKOOKax TakK, YTOObI OHH TIPAMMATHYECKM H JIEKCHYECKH
COOTBETCTBOBAJIU COACPKAHUIO ITPEAJIOKCHUS.

1. We live in the century (twenty-one).

2. He wants to be a (science).

3. He plays the piano (profession).

4. They have five very clever (child).

5. Sarahisa and Jane is a professor of Mathematics (dance).
6. The of three girls is called Julia (young).

7. It is also the most adventure (danger).

8. This rule is very (use).

9. He is proud of his (collect).

10. The writer describes people in his book (Russia).

2. laiiTe npaBUJIbHBIM BAPUAHT OTBETA

1. We learn English at college.

a. Do we learn English at college?

b. Did we learn English at college?

c. Will you learn English at college?

2. London is one of the ... cities in the world.

a. bigger; b. most bigger; c.biggest.
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3. When I ... in London I hope to visit a friend of mine.
a. was b. am c. have been d. will be
4. The documents ... now.
a. checked b. are checking
c. have been checked d. are being checked
5. 1 didn't know the answer because I ... the book.
a. wouldn't read b. don't read
c. hadn't read d. didn't read
6. By the time we came back, the house ... by an American.
a. was bought b. had been bought
c. bought d. will be bought
3. Beibepure npennoxenne B Passive Voice.
1. They have been working out the program for two months.
2. The program worked out by you is too difficult for students.
3. The program was worked out by a well-known scientist
8 Cemectp
1 BapuaHT

NHucTpykums

1. 3amanus mnpeamnosiaral0oT MEPEBOJ TEKCTa, OTBETHl HAa BOIPOCHI, COCTABIICHHE
NpeJIoKEHUI U OTpe/IeIeHe BPEMEHU TJ1aroJja.

2. ITpu BBINOJTHEHUHU MOXKHO MOJIb30BATHCS aHITIO-PYCCKHAM CIIOBapeEM.

3. MakcumanbHOE BpeMs BbINOIHEHUs 3a1aHus 40 MUHYT.

4. Kputepuu OIleHKHU pe3yJibTara:

- OTJIMYHOY - CTABUTCS 3a MPABHIBHOE BBIMOJHEHUE 4 3ajaHU

- «XOPOIIO»- CTAaBUTCS 3@ MPABUIILHOE BBINOJIHEHUE 3 3aJaHUI

- «yIOBJIETBOPUTEIIBHO» - CTABUTCA 3@ IPABUJILHOE BBINIOJIHEHHE 2 3a1aHUI

- «HEYJIOBJIETBOPUTEIILHO» - CTABUTCSA 3a MPABUIIBLHOE BBINIOJIHEHUE |3a1aHus.

1. Translate the text in written form

Choosing a career is not an easy matter.

There are a lot of interesting things in the world, so it is difficult to make the right
choice.

In childhood | wanted to be a pilot, then | wanted to become a fireman. But now | have
to think about my future career seriously. Some people are good at Maths, Physics and
Biology, others enjoy History, Literature and Geography.

| think that young people should ask themselves: What am | interested in? What do |
want to become? When they find the answer, they will have the goal to achieve. And then they
should do everything to achieve this goal. If you are good at Maths and you want your
profession to be connected with this subject, you should start studying it very seriously. The
same is with other subjects.

However, it is very difficult to enter a university. If you do not have money and if you
are not a genius, you will never enter a good university or an institute. I have some friends who
were in this situation and they had to choose a career not to their interests and liking.

But some young people still do not know which career to choose even after they finish
school, so they have to waste time deciding, or go to find a job.
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Sometimes young people choose a career they are interested in, they enter a university
and after some time they understand that this occupation is not for them, they get poor marks
and have to leave the university.

The problem of choosing a career is very widespread among young people and they
should think about it seriously before making any decisions.

2. Answer the questions according to the text

a. Is it easy or difficult to make a choice about the career?

b. What can you say about your future profession?

c. Did you choose your profession by yourself?

3. Onpenesaurte BpeMsi M 3aJ10T npeaiao:kennid. [loguepkHuTe INIaroJ-ckazyemMoe B KaKI0M
N3 HUX.

a) The idea was laughed at by many people.

b) But some people believed it was a promising idea.

c) Their successful operation shows that they could be well used as a mean of regular
passenger transport.

4. Make up one sentence using the following words:

some, still, but, people, do, young,not,which, know, to, career,choose

2 BapuaHT
1. Translate the text in written form

No matter what method of job hunting you use, inevitably somebody will ask you for a
resume. Most companies require a resume before seriously considering a job candidate from
the outside. Resumes are sometimes also required in order to receive a job transfer within a
company.

The purpose of a resume is to help you obtain a job interview, not a job. Very few
people are hired without a personal interview.

Effective resumes are straightforward, factual presentations of a person's experience and
accomplishments. They are neither over detailed nor too sketchy. A general rule is that two or
three pages in length is best.

One page seems too superficial; a four-page (or longer) resume may irritate an impatient
employment official. Some writers suggest that a chronological (the standard-type) resume be
used; others argue for an accomplishment resume.

A useful resume should include both your experiences and key accomplishments. When
sent to a prospective employer, a resume should be professionally reproduced, with particular
attention to misspellings, typographical errors, and careful spacing.

To attract attention, some job seekers print resumes on tinted paper, in a menu-like
folder, or on unusual-sized paper. If done in a way to attract positive attention to yourself, these
approaches have merit.

2. Answer the questions according to the text

a. What is the purpose of resume?

b. What should effective resumes contain?

c. How many pages should be in resume?

3. Onpenesure BpeMs M 3aJ10r npeaiao:kenni. [loruepkHuTe NIaroJ-ckazyemMoe B KaxkKI0M
U3 HUX.

a) The repair cycle is divided into three parts.
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b) Russian Railways consider organization of construction and repairs one of the most
important tasks.

c) ...as the railway traffic is constantly growing.

4. Make up one sentence using the following words:

useful, a, experiences, resume, include, should, your, both, and, key, accomplishments.

4. Pexomenayemast JurTeparypa st MOATOTOBKHU 00y4aIoIuXCcs K
nu¢depeHIUPOBAHHOMY 3a4eTy:

1. AurtoB, B.®. Anrmuiickuii s3pik (Al-Bl+): yueGHOe mocoOue isi cpeaHero
npodeccroHanbHOr0 00pazoBanms/ B.®. Autos, B.M. Autora, C.B. Kagu — 13-¢ uzn., ucnp. u
nom.-Mocksa: M3znarensctBo FOpaiit, 2020. - 234 c.- (IIpodeccuonanbHoe 0Opa3oBaHue). -
Pexxum noctyma: https://urait.ru/bcode/514010

2. Ky3bmenkoBa, 10.b. Anrnmiickuii s3pik: yueOHMK U npaktukym i CIIO./FO.b.
KyspmenkoBa. - M.: U3patensctBo HOpaiit, 2019. - 441 c. - (Cepus: IlpodeccuonanbsHoe
oOpa3oBanue).- Pexxum nocryna: https://urait.ru/bcode/511594

3. Hes3opoga, I'.JI. Anrnumiickuit s3bik. ['pammatuka.: yue0. mocodbue mns CIIO/ T'.[.
Heszopoga, I'.11. Hukutymkuna. — 2-¢ m3a. ucnp. u gor.-M.: UzmatensctBo HOpaiit, 2019. -
213 c. (Cepus: [Ipodeccuonansroe obpazoBanue).-Pexum JOCTYyTIa -
https://urait.ru/bcode/513406
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